(0000000000000 0o0oooooooooooo
filename=harmonic-poten-qa030604.tex)

0000000000000 ¢(z) =exp(—z?)0000000000000 mOO000
000000000000000Ma>0. 000000000000 V(z)0OOOOO
E0D0DODOO00ODOOOO0AROOOO
(ooo)

ddooddooooooooooo oo ooon
B2 d?
o dt (z) + V(2)(x) = EY(x). (1)

0000 ¢(z) =exp(—ax®)0 00000

%Qﬁ(x) = —2ax - exp(—az?)

% (x) = —2a - exp(—az®) + da’z” - exp(—az?) (2)
(l00o0O00ood
I 20 exp(—ar?) + daa? - exp(~aa?)] + V() (a)
= Ey(x) (3)
K2 ) ) h2a 9
— [—%(20@) + V(7)]exp(—ax”) = (E — ?) exp(—ax”). (4)

b z000000000bb0b0bbu0bbooouob bbb «00bbo0onoon
gooboobobbbobboodoouboobooooooda

2h%a2
V(z) = 2 5
(1) = 2 )
hQ
EF=—
" (0
(oo)
gooooboogouooboooooog
1
V(z) = imw2x2 (7)
gooond
mw
= 8
o= 0
2 mw 1
EF=—x—==h
m on 2 (9)

gouogoogouogooboobuooboggobbbuoobobooboooaoobda
guogbbooooboboobboobuoobbbod



